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Section ‘A’ contains 08 shortanswer type questions of 5 marks each. Learners arequired
to answers 4 questions only. Answers of short ansp-type questions must be restricted t

250 words approximately.

AT & A TS off Scakl aTed Yool & a8 §, o9 & ahdel I WAl & 3} & B
gcds 9T & fav uiw 3 FUiRT &, 9Ur 9 9T & 3ca 250 sal H HfRF 8
gl TTfRe|

Briefly discuss the following: (Que. 1 to Que
oo & F&iT & =T=T AT : (W 1 T Jo 8)

1. Relationship Between Business and Cult
YARATY Y WD B T qH |
2. Factors of Political Environme.
T fde gAeRoT & ded |
3. Doctrine of Indoor Margement.
AR gaeyr Fr g |
4.  “Company is An Artificial Person Created by Lav Discuss.
“FHr A g MRT we g afad 87| =t P |
5. Industrial Dispute Act, 192
ftenfarer faare sfafaga, 1947 |
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6. Consequences of Industrial Sickness.
3T TIuTdr & aRomH |

7. Foreign Investment in India.
AR A facel faer |

8. Main Organization for Facilitating the Process dblGalization.
ARATRTOT AT YT I ATE Tl & TIT F&T oo |

Section ‘B’ contains 04 long answer-type questionsf 10 marks each. Learners are

required to answers 02 questions only.
T @ H IR Y 3cal aTel 99 g I &, 378 & el af 9al & 3ca} oot &1 T

gesT & foIv g 3ish uifid g1
1. Define economic environment? Describe the changtcs of economic
environment.

e gataRor & aRANa fifew 2 e gafawer & ARVt &1 gola
HITAT |
2. Define company. Distinguish between MemorandumAssociation and

Articles of Association.
ST BT URFINT HIRSTT | arde A e dor e orafiad H e
e DI |

3. What do you mean by economic reforms? Desctileevarious stages of
economic reforms in India.

3NTeh GURT @ 3T 1 FASA ¢ ? ¥R & 3 gurl & fafdesr o
HT JUTA HITAT |

4. Discuss the reasons of adverse disequilibriuthenBalance of Payments of
a country and explain how can it be corrected?

fondly 221 & STt Helolel A Yfciohel 3EFIAT & SHRUN W Yl ST 3R
Sagd b 30 A URT ST Hehell 872




